
<  5, B> g g + 45¬ [ g =   45 ]

[ =   95 ]g

[ =   78 ]p

[ = 558 ]d

<  8, A>

<  9, A>

<10, A>

g g 5+ 0¬

p p 78+¬

d d + 558¬

Operation Result

d // distance= 558
g // gas=   95
p = // price78

Conit

<  5, B> g g + 45¬ [ g =    45 ]

[ p =    70 ]

[ d =  412 ]

<  6, B>

<  7, B>

p p + 70¬

d d + 412¬

Operation Result

d // distance= 412
g // gas=   45
p = // price70

Conit

Replica A

Vector clock A = (11, 5)

Order deviation = 3

Numerical deviation = (2, 482)

Replica B

Vector clock B = (0, 8)

Order deviation = 1

Numerical deviation = (3, 686)


